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CERTIFICATE / DIPLOMA PROGRAMME
IN YOUTH AND DEVELOPMENT WORK

Term-End Examination
June, 2013

Module-1: Commonwealth
Values in Youth and
CYP-1: Development Work

Module-2 : Young People and Society

Time : 3 hours Maximum Marks : 100

Note : Attempt any five questions, choosing 2 from each section,
and the fifth question from any section. All questions
carry equal marks.

SECTION-A
1. ‘Colonies around the world were a source of raw 29
material for British industrial development as well
as a market for finished goods’. Analyse the

statement and give your observations.

2. What are the salient features of the ‘1971 20
declarations of Commonwealth Principles” ?

3.  Write short notes (any two) : 10+10=20
(a) The Commonwealth and Apartheid
(b) The Commonwealth Fund for Technical
Cooperation (CFTC)

(¢) Democratic values
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4. (a) Explain the concept of ‘Youth
Empowerment’. 10+10=20

(b)  What are the ‘principles of consensus’ ?
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SECTION-B

5: Write short notes on : 10+10=20

(@)
(b)

6. (a) Discuss the nature and functions of youth
in ‘Development Work'. 12+8=20
(b) What are the sociological theories of
adolescence ?
7.  Critically discuss : 10+10=20
(a)  Youth as a positive concept
(b) Youth as a negative concept
8. (a) Describe the nature of youth unemployment
in your country. 8+12=20
(b)  Functionalists argue that the family has four
important functions to perform in society -
write your answer focusing the functions.
CYP-I 3 P.T.O.

Youth as an age category

The concept of society
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4. (a) ‘7o GEfERETO I Hehewdl 1 qUH HIfeC |
(b) HEHHAMT (consensus) ¥ fagm w1 €27 10+10=20
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